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Question

AO1

AO2

AO3

Total

2.

Define linear motion

1 mark awarded for correct definition.

Linear motion is defined as ‘movement of an object
or a body occurring in a straight line when a force
acts upon it.” (or similar).

Do not accept movement in a straight line without
any qualifier.

Calculate the initial acceleration of the swimmer and
the distance covered by the swimmer during the first
25 seconds on the race.

For initial acceleration calculation, award one mark
for workings and one mark for correct response
(with correct units).

Acceleration = change in velocity / time taken
e =(1.5m/s —0m/s)/5s—1 mark
e =0.3m/s? —1mark

For distance travelled calculation, award one mark
for workings (knowledge that area under graph is
distance travelled) and one mark for correct
response (with correct units).

Distance travelled (area under graph)
e =%(1.5x5)+(1.5x20)-1 mark
e =23.75m+ 30m

. -3375m . 1mark

© WJEC CBAC Ltd.
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Sticky Note

This question was poorly answered in general.
b(i) - the definition had to be accurate as per the mark scheme to obtain the mark. 



Sticky Note

Excellent calculations on this paper.
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Sticky Note

This question was poorly answered in general.
b(i) - the definition had to be accurate as per the mark scheme to obtain the mark. 



Sticky Note

Excellent calculations on this paper. 



Sticky Note

No mention of force.
















Swimming involves four main strokes: front crawl, back crawl, breaststroke and butterfly.
Breaststroke is a particularly challenging stroke because of the discontinuous propulsive action
of the arms and legs and its complex time synchronisation (Soares et al., 1999). In order to
increase speed, breaststroke swimmers need to concentrate on the power generated during the
stroke phase as well as reducing drag during the non-propulsion phase.

Figure 2 — shows a performer competing in the 100 m breaststroke event

(b) (i) Define linear motion. 1]

(i) Calculate the initial acceleration of the swimmer and the distance covered by the
swimmer during the first 25 seconds of the race. [4]

© WJEC CBAC Ltd. (A550U20-1)
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Question AO1 | AO2 | AO3 | Total
3. (b) Analyse the importance of this model of leadership

in relation to building successful teams.

Indicative content

Situational Characteristics

o Effective leadership will adapt to the situation.

e Certain situations may influence/control/dictate a
particular mode of leadership e.g. dangerous
(environmental factors) with high risk such as
teaching javelin will require a strong, autocratic
style leadership.

Leader characteristics

o Effective leadership is related to the personality
of the leader. Leadership style will be influenced
by personality e.g. autocratic/democratic/laissez-
faire

¢ Personality/experience/ability of the leader will
influence whether a performer reacts in a
positive/negative way towards the leader.

Member Characteristics

o Effective leadership is related to the group eg.
size, experience, tradition/culture, previous
expectations, age of group. 3 6 9

Leaders Behaviour

Required behaviour

o Style of leadership that is required / suitable /
appropriate for the particular situation /
members.

Actual Behaviour

¢ Relates to the leadership style adopted — the
way the leader acts and behaves.

o The leader’s actual behaviour will have a direct
impact on performance of the team and the
members’ satisfaction.

Preferred behaviour
e This relates to way in which the group wish to be
led (links with satisfaction).

e The leader’s behaviour can have a direct impact
on performance and motivation - leading to
successful outcomes for the team.

e Leaders should be flexible/can change/can
adapt to differing styles (to accommodate the
differing needs to improve performance.)

© WJEC CBAC Ltd.
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Question

AO1

AO2

AO3

Total

Band

AO1

AO3

5-6 marks

Excellent analysis of
Chelladurai’s multi-
dimensional model of
leadership.

Reasoned judgements are
made and appropriate,
balanced conclusions are
drawn using relevant theory.
Excellent application of
theory to practice.

2-3marks

Good knowledge
of leadership
model

3-4 marks

Good analysis of
Chelladurai’s multi-
dimensional model of
leadership.

Judgements made on the
merits of the theory but not
fully developed.
Conclusions may be one-
sided or lack evidence.
Good application of theory
to practice.

1-2 marks

Limited knowledge
of leadership
model.

1-2 marks

Limited analysis of
Chelladurai’s multi-
dimensional model of
leadership.

Superficial judgements
made with little link to
theory.

Limited application of theory
to practice.

0 marks
Response not
worthy of credit.

0 marks
Response not worthy of
credit.

© WJEC CBAC Ltd.

15











Write the two digit question

Leave
number inside the boxes next Answer blank
to the first line of your answer

— -
B ™
ﬁ p—
— @ -
ot I
Y\as ¢ .
S Q ~h L\\L\\u AN, S x.’c A \J\""\\\ @\ A B U\ (=N R
'L e L\h\*’\‘ \S Lkgk\l A WAL \\é\ L:\_,} M. 4"&\*\ %ﬂ-\ ‘-\\\M.\ h (\‘c'«‘ C L%ud\n\xh“ -
- AN g) \\.»_. L (201 VT S \>£ Loviowsy . l\ \(“‘x el § ‘\K‘.y‘ \kl -
2l e VL L\\U.:\* \’-\( AL cals \\A_\_ - 1‘\-\-\ Whawet 'L\I\C\\ e L'\L\ o thes vh L:ﬂ I
— ‘f‘(" to lC\L(\:\ s S, (=) CPPLH\\\A\ .( (lthluuu’~ \ \CJ‘O\A)‘ ke | f
Jd fwae  veglnthang g Bokw lvm\\j Ao 4eva B Ar tcanpla /Db}'[
[V

W



Sticky Note

Candidates could only access AO3 band 3 for excellent analysis, not merely a description of the model which is included in the question paper. 
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Sticky Note

AO1 - 3 marks awarded. Good knowledge of leadership model. 
AO3 - 3 marks awarded. Limited/good analysis, not enough depth and examples to access band 3.
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Sticky Note

Candidates could only access AO3 band 3 for excellent analysis, not merely a description of the model which is included in the question paper. 
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Sticky Note

AO1 - 3 mark awarded. AO3 - 3marks awarded.

A good analysis of the model in a coherent manner. 
















For many years, cricket has been a male-dominated sport. However, things may be changing.
In 2017, the England Women'’s cricket team won the World Cup beating India in a thrilling final
which was the most-watched game in the history of women'’s cricket.

England’s captain, Heather Knight, is an extremely talented cricketer who was the first female
player to score fifty runs and take a five wicket haul in a one-day international. She was involved
in the 2017 Ashes series and has been a respected member of the squad for a number of years.

Figure 4 — shows Chelladurai’s multi-dimensional model of leadership

Characteristics Leader Behaviour

Required

Situation — Behaviour

i Outcome

Performance

Leader e B(?hce:\lj%ur e and
Satisfaction

f

Preferred
Behaviour

Member e

(b) Analyse the importance of this model of leadership in relation to building successful
teams. [9]
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Question

AO1

AO2

AO3

Total

4.

Discuss the impact and consequences of the
increasing commercialisation and globalisation of
sport.

This is a banded response
indicative content

The discussion will take a variety of forms and
will be backed up with the use of stimulus
material or

a wide range of sporting examples to illustrate and
exemplify.

Impact of commercialisation

e Sport as a commodity / sport as a business.
Concept of assets (such as players / clubs /
stadia etc.) that can be bought and sold.

¢ Golden’ triangle — symbiotic relationship
between sport, media and sponsorship.

e Sponsorship in all its forms e.g. replica kit
market.

¢ Financial fair play and irregularies. Influence of
business and entrepreneurs.

e The influence of market e.g. supply and demand
/ those with most money have most influence.
Effect on transfer fees.

o Development of the ‘cult’ of the celebrity
sportstar — influence within and outside of sport.
Impact of social media.

e Power of the media and sponsors to shape sport
e.g. rule changes, breaks in play for advertising
‘hits’, creation of new formats (e.g. Twenty20
Cricket).

e Other.

Impact of globalisation

e Definition of globalisation.

e Cashmore’s three levels of globalization (i) the
creation of global sporting competitions e.g.
Indian Premier League (IPL) in cricket; (ii) the
development of satellite communications e.g.
people across the world can share and
experience events such as Olympic 100m final
‘live’ and (ii) growth of the global market of
sports teams, sports stars and sports
merchandise e.g. evolution of sports brands
such as Nike and Under Armour and the cult of
celebrity such as the creation of the Jordan or
Beckham ‘brands’ .

e Players recruited to play for teams in countries
other than their own and the effect on home
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Question

AO1

AO2

AO3

Total

grown talent e.g. Premiership football.
Hosting of major international tournament in
different nations e.g. Qatar World Cup.

Other.

Band AO1

AO3

3

11-16 marks

Excellent discussion the
impact and consequences
of the increasing
commercialisation and
globalisation of sport.
Positive and negative
aspects must be discussed

Sporting examples to
illustrate and exemplify
sports throughout

2 3-4dmarks

Good knowledge
of
commercialisation
and globalisation

5-10 marks

Good discussion the impact
and consequences of the
increasing
commercialisation and
globalisation of sport.
Positive and negative
aspects may not be
discussed in full and only
one side of the discussion
within this band

Sporting examples to
illustrate points may not be
throughout

1 1-2 marks

Limited knowledge
of
commercialisation
and globalisation

1-4 marks

Limited discussion the
impact and consequences
of the increasing
commercialisation and
globalisation of sport.

Focused just on the positive
or negative impact

Little or no reference to
sporting examples

0 0 marks
Response not
worthy of credit.

0 marks
Response not worthy of
credit.
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Sticky Note

AO1 - 4 marks awarded - Good knowledge of topic. Band 2.
AO3 - 10 marks awarded - Good discussion with some band 2/3 relevant examples. Both positive and negative impacts are discussed. 
















Neymar’s transfer smashes the previous record set when Paul Pogba returned to Manchester
United from Juventus for £89m in August 2016... His £782000-a-week wages mean PSG’s total
outlay is £400m.

(BBC Sport website, Friday 4 August 2016)

Figure 5 — Transfer spending trends in Europe’s top 5 leagues
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Discuss the impact of the increasing commercialisation and globalisation of sport. [20]
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